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Answer ang fate qu.esttotts out oJ *oen'

t. (a) (i) What is the necessiW of curing of
concrete Z 2

(ti) Mention different methods of
curing of concrete ? 2

(iii) Discuss the fresh properties of
concrete. (Including bleeding and
segFegation). 6

(b) (i) Briefly focus on dilferent internal
and external factors that affect
durabilitY ? 6

Contd.



(a)

(b)

2.

(tt) How use of admixtures can
improve the properties of concrete,
in general ?

What are the main components of
portland cement ? Explain the basic
properties of these components. f O

What are the advantages and
disadvantages of concrete ? What is
meant by quality control in concrete ?

lo

Design a concrete mix for a reinforced
concrete work, which will be exposed
to the moderate condition. Concrete is
to be designed for a mean compressive
strength of2SMPaatthe age of28 days.
A requirement of 25mm cover is
prescribed m dmum size of aggregate
is 2omm uncrushed aggregate will be
used. Sieve analysis shows that 50olo

passes through 6OOp sieve. The bulk
specific gravity of aggregate ls found to
be 2.65. ro

h) Deffne workability. What are the tests
used for workabillty ?

2

(a)3.

53 (CE 504) CRTC/G

r0



4. (a) State the difference between the wet
process and dry Process of cement
manufacturing ? What is the
importance of gYPsum addition in
manufacturing of cement ? 10

(b) What is sulphate attack in concrete ?
Give some method of controlling.
sulphate attack? lO

(b)

(a)6.

5. b) Differentiate between - 5x2-10

(i) Plasticizer and super plasficizer.

@ Ordinary Portland cement and
p:uzzolerra Portland cement.

What is soundness of aggregate ?

Explain the procedure of aggregate
impact value test. lO

Define Abram's law and state its
limitations ? What is creep in concrete ?

Write short notes - (ong fioe)

(a) Bulking of sand.

ro

destructive
USPV and

lo

5x4-2O

3

(b) What do you mean bY non
test of concrete ? ExPlain
Rebound hammier test ?
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h) Setting tlme of cernent.

(c) Heat of hydration.

(d) Bleeding and segregation.

(e) Alkall-aggregate reaction.

A Ferro-cement and its application.
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